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QUESTION 1

Your application is using an Object Storage bucket named app-data in the namespace vision, to store both persistent
and temporary data. Every week all the temporary data should be deleted to limit the storage consumption. 

Currently you need to navigate to the Object Storage page using the web console, select the appropriate bucket to view
all the objects and delete the temporary ones. 

To simplify the task you have configured the application to save all the temporary data with /temp prefix. You have also
decided to use the Command Line Interface (CLI) to perform this operation. 

What is the command you should use to speed up the data cleanup? (Choose the best answer.) 

A. oci os object delete –ns vision –bn app–data ––prefix /temp 

B. oci os object bulk-delete –ns vision –bn app–data ––prefix /temp ––force 

C. oci objectstorage bulk–delete –ns vision –bn app–data ––prefix /temp ––force 

D. oci os object delete app-data in vision where prefix = /temp 

Correct Answer: B 

 

 

QUESTION 2

Your deployment platform within Oracle Cloud Infrastructure (OCI) leverages a compute instance with multiple block
volumes attached. There are multiple teams that use the same compute instance and have access to these block
volumes. You want to ensure that no one accidentally deletes any of these block volumes. You have started to construct
the following IAM policy but need to determine which permissions should be used. 

allow group DeploymentUsers to manage volume-family where ANY { request.permission != , request.permission != ,
request.permission != } 

Which permissions can you use in place of in this policy? (Choose the best answer.) 

A. VOLUME_DELETE, VOLUME_ATTACHMENT_DELETE, VOLUME_BACKUP_DELETE 

B. VOLUME_ERASE, VOLUME_ATTACHMENT_ERASE, VOLUME_BACKUP_ERASE 

C. ERASE_VOLUME, ERASE_VOLUME_ATTACHMENT, ERASE_VOLUME_BACKUP 

D. DELETE_VOLUME, DELETE_VOLUME_ATTACHMENT, DELETE_VOLUME_BACKUP 

Correct Answer: A 

 

 

QUESTION 3
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You have a group pf developers who launch multiple VM.Standard2.2 compute instances every day into the
compartment Dev. As a result, your OCI tenancy quickly hit the service limit for this shape. Other groups can no longer
create new instances using VM.Standard2.2 shape. 

Because of this, your company has issued a new mandate that the Dev compartment must include a quota to allow for
use of only 20 VM.Standard2.2 shapes per Availability Domain. Your solution should not affect any other compartment
in the tenancy. 

Which quota statement should be used to implement this new requirement? (Choose the best answer.) 

A. set compute quota vm-standard2–2count to 10 in compartment dev where request.region = usphoenix–1 

B. set compute quota vm-standard2–2–count to 20 in compartment dev 

C. zero compute quotas in tenancy set compute quota vm–standard2–2–count to 20 in compartment dev 

D. zero compute quotas in tenancy set compute quota vm–standard2–2–count to 20 in tenancy dev 

Correct Answer: A 

 

 

QUESTION 4

You have created a group for several auditors. You assign the following policies to the group: 

What actions are the auditors allowed to perform within your tenancy? (Choose the best answer.) 

A. The Auditors can view resources in the tenancy. 

B. Auditors are able to create new instances in the tenancy. 

C. The Auditors are able to delete resource in the tenancy. 

D. Auditors are able to view all resources in the compartment. 

Correct Answer: D 

 

 

QUESTION 5

You are using Oracle Cloud Infrastructure (OCI) console to set up an alarm on a budget to track your OCI spending. 

Which two are valid targets for creating a budget in OCI? (Choose two.) 

A. Select group as the type of target for your budget. 
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B. Select Tenancy as the type of target for your budget. 

C. Select user as the type of target for your budget. 

D. Select Cost-Tracking Tags as the type of target for your budget. 

E. Select Compartment as the type of target for your budget. 

Correct Answer: DE 
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